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Diploma in Civil Engineering
I1I Semester Exams: Non-CBCS (2016 and Old Batch Backlog) December 2019

C - 303 : Hydraulics
Total Time : 3 hrs Total Marks : 70
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_“é e /7(,( Viscosity (i)

. Lé”tc,tf Kinematic Viscosity (i)
-uf’g( Pascal law  (iii)

- L“nl_f’/ Uniform flow  (iv)

_uf‘i - /TJ Total pressure v)

i Seo L’a;‘a,t[ Centre of pressure (Vi)
o] A uyl Centre of Buoyancy  (vii)
-u:"g( equation 2L Total Energy (viii)
-k YU I8 Pitot tube  (ix)

-J Seolos e L Mouth piece  (X)
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4 distance L 0.15mm c:,u”f:? plate d/».,g‘a 1.5x10°mm* area Kgﬁ plate Vﬁ
.l force l}'fﬁ.ﬁéj maintain s speed -« (¥ pull = speed d/ 0.4m/s -
-« 1 poise . viscosity J fluid d_tid_ Sl l/u)»//!-’c{-.(:p power

uzct- connected < pipe ».gu%lnlac mercury e simple U-tube manometer .,g
W atmosphere «end /¢ manometer -~ sp.gr. = 0.8 d/u’ Lsle fluid LIE
U* limbs Usn—238§ Vaccum Pressure U< Pipe -«

- height of fluid=15cm U~ left limb s/ mercury level difference=40cm

K@£ ub;l“é define / vaccum pressure ./ guage pressure, Absolute Pressure
-z relationship

centre § plate Je c ln VEC /Lu’ ’d:&_@,g-{— diameter = 1.5m Kf circulate plate _,Q
VPK centre of pressure ! total pressure ¢ plate -‘Lé 3m & free surface Ldg
26

‘104 1. < immersed { /Lu’ L pyirs dg < diameter = 3m ¥~ circular plate VQ
total pressure Q_LJ Lc‘_u'l 1.5m s 4m < surface Ldlz least depth s/ greatest
- /6_./L25/ centre of pressure H_2

£ Section 1 Ji -« 15cm s/ 10cm diameter 4 Section 2 sl Section 1 ¥ Pipe

i /ryl"” discharge § pipe s velocity 4 Section 2 ;"L 5m/s Velocity
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_;”’qj: details :‘/ Assumption 4-'/—L/ Il Bernoulli's Theorem
-J/U .Lgc,dfw ;f types LJ l/;ig_y/ Hydraulic Coefficients
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~“‘L’--(u.l‘/c,L}f.‘”{;( types Lu’b;'c“_g Manometers

Pipe A -« connect 4 B us/ A points »< pipes »% differential manometer {/
Point A -< sp.gr. = 0.9 J liquid 1 pipe B f‘L sp gr.=1.5 JJ‘L liquid e
J~ Differential manometer - 1.80 kg / cm? sl Lkgf/ cm’ Pressure £ point B .
,é,@:;b/ difference £ mercury level

¥ CE .l Velocity (~ CD, Velocity (= BC, rate of flow J~ AB < data £ L;é
_;/?'}L’” diameter

Dia of AB=1.2m
Velocity in AB =3.0m/s
Dia of BC =1.5m
Dia of CD = 0.8m
Velocity of CE=25m/s
AB flow rate = Om’ /s
Velocity of pipe = BC = V. m/s
Velocity of pipe=CD = Vi, m/s

inlet diameter = 20cm 6> horizontal venturimeter {/
-< sp.gr=038 JJ{.{LM&@LL flow £ oil use b/u’Lc‘- 10 cm throat diameter
J oil-mercury (- Differential manometer -< | » 60 litres/s < Venturimeter

Take Cd = 098 —C:'«é:{:g reading

< bottom L e fill (}L_f 5m e l.e. 1.25m diameter U™ circular tank vg
Kdgu: tank 4/ 1.5 minutes ¥ Cy=0.62 /Lc“. “l.f.t_é orifice £1¥ 50mm dia.

- ({_; kf level
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